
  

Řešení:    Matematika    M_02_11 

 Počítání do 100 bez přechodu desítky   

 

Doplň tabulku: 

pečivo mléčné výrobky ovoce celkem 

9 40 30 79 

7 50 20 77 

30 8 60 98 

5 70 10 85 

 

Vypočítej: 

64 + 20 = 84      81 – 40 = 41                      

39 + 10 = 49      96 – 50 = 46               

70 + 25 = 95      73 – 60 = 13              

20 + 58 = 78      57 – 50 =   7 

      

(63 – 3) + 8 = 68      95 – (13 – 8) = 90       

(27 – 4) + 5 = 28      84 – (11 – 7)=  80          

(56 + 2) – 3 = 55      33 + (25 – 5) = 53       

(73 + 5) – 7 = 71      42 + (14 – 9) = 47 

                 


